What does a farrier do?

A) gives the horses medicine
B) feeds the horses

C) cleans the horses stall

D) trims the horse’s hooves and puts the shoes on
The correct answer is D,
trims the horse’s hooves and puts the shoes on.

How many gaits does a horse have?

A) 2

B) 4

C) 10

D)1

The correct answer is B, 4.

Horse’s gaits are: walk, trot, canter, and gallop.

True or false: a trot is as fast as a horse can go.
A) true

B) false
The correct answer is B, false.
The fastest a horse can go is a gallop.

What is 1 difference between Western and English riding?
A) the level of difficulty :
B) the amount of fun you have while riding

C) the accent you speak to the horse

D) the saddles

The correct answer is D, the saddles.

Western saddles are sturdier than English saddles. ‘ - ~
Both English and Western riding requires balanced riders with correct heel position. Both
disciplices use neck reining and direct reining, and posting the trot at times.

Which of the following is a part of the saddle?
A) the pommel

B) the throat latch

C) the headstall

D) the noseband
The correct answer is A, the pommel.
The pommel is the bump at the front of the saddle.




